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NEW QUESTION 1
Refer to the exhibit, which shows the output ofa debug command.
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Which two statements about the output are true? (Choose two.)

A. The interlace is part of the OSPF backbone area.

B. There are a total of five OSPF routers attached to the vorz4 network segment
C. One of the neighbors has a router ID of 0.0.0.4.

D. In the network connected to port4, two OSPF routers are down.

Answer: AD

NEW QUESTION 2
In which two slates is a given session categorized as ephemeral? (Choose two.)

A. A UDP session with only one packet received
B. A UOP session with packets sent and received
C. ATCP session waiting for the SYN ACK

D. A TCP session waiting for FIN ACK

Answer: AC

NEW QUESTION 3
An administrator wants to capture encrypted phase 2 traffic between two FotiGate devices using the built-in sniffer.
If the administrator knows that there Is no NAT device located between both FortiGate devices, which command should the administrator run?

A. diagnose sniffer packet any 'udp port 500'
B. diagnose sniffer packet any 'lp proto 50*

C. diagnose sniffer packet any 'udp port 4500
D. diagnose sniffer packet any 'ah'

Answer: B

NEW QUESTION 4
Exhibit.

Refer to the exhibit, which shows the output of a session. Which two statements are true? (Choose lwo.)
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A. The TCP session has been successfully established.
B. The session was initiated from an authenticated user.
C. The session is being inspected using flow inspection.
D. The session is being offloaded.

Answer: AB

NEW QUESTION 5
Exhibit.
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Refer to the exhibit, which shows a partial web fillet profile configuration.
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Which action does FortiGate lake if a user attempts to access www. dropbox. com, which is categorized as File Sharing and Storage?

A. FortiGate allows the connection, based on the URL Filter configuration.

B. FortiGate blocks the connection as an invalid URL.

C. FortiGate exempts the connection, based on the Web Content Filter configuration.

D. FortiGate blocks the connection, based on the FortiGuard category based filter configuration.

Answer: D

NEW QUESTION 6
Which two statements about conserve mode are true? (Choose two.)

A. FortiGate enters conserve mode when the system memory reaches the configured extreme threshold.

B. FortiGate starts taking the configured action for new sessions requiring content inspection when the system memory reaches the configured red threshold.
C. FortiGate exits conserve mode when the system memory goes below the configured green threshold.

D. FortiGate starts dropping all new sessions when the system memory reaches the configured red threshold.

Answer: BC

NEW QUESTION 7

Consider the scenario where the server name indication (SNI) does not match either the common name (CN) or any of the subject alternative names (SAN) in the
server certificate.

Which action will FortiGate take when using the default settings for SSL certificate inspection?

A. FortiGate uses the SNI from the user's web browser.

B. FortiGate closes the connection because this represents an invalid SSL/TLS configuration.
C. FortiGate uses the first entry listed in the SAN field in the server certificate.

D. FortiGate uses the ZN information from the Subject field in the server certificate.

Answer: C

NEW QUESTION 8
Which two statements are true regarding heartbeat messages sent from an FSSO collector agent to FortiGate? (Choose two.)

A. The heartbeat messages can be seen using the command diagnose debug authd fsso list.
B. The heartbeat messages can be seen in the collector agent logs.

C. The heartbeat messages can be seen on FortiGate using the real-lime FSSO debug.

D. The heartbeat messages must be manually enabled on FortiGate.

Answer: BC

NEW QUESTION 9
Refer to the exhibit.
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Which three pieces of information does the diagnose sys top command provide? (Choose three.)
A. The miglogd daemon is running on CPU core ID 0.

B. The diagnose sys top command has been running for 18 minutes.

C. The miglogd daemon would be on top of the list, if the administrator pressed m on the keyboard.
D. The cmdbsvr process is occupying 2.4% of the total user memory space.

E. If the neweli daemon continues to be in the R state, it will need to be manually restarted.

Answer: ABD

NEW QUESTION 10
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Refer to the exhibit, which shows the omitted output of a session table entry.
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/1, out

Which two statements are true? (Choose two.)

A. The traffic has been tagged for VLAN 0000.
B. NP7 is handling offloading of this session.
C. The traffic matches Policy ID 1.

D. The session has been offloaded.

Answer: BD

NEW QUESTION 10
Refer to the exhibit, which shows the output of a policy route table entry.

Which type of policy route does the output show?

A. An ISDB route

B. A regular policy route

C. A regular policy route, which is associated with an active static route in the FIB
D. AnSD-WAN rule

Answer: A

NEW QUESTION 11
Which two statements about Security Fabric communications are true? (Choose two.)

A. FortiTelemetry and Neighbor Discovery both operate using TCP.

B. The default port for Neighbor Discovery can be modified.

C. FortiTelemetry must be manually enabled on the FortiGate interface.

D. By default, the downstream FortiGate establishes a connection with the upstream FortiGate using TCP port 8013.

Answer: CD

NEW QUESTION 15
What are two reasons you might see iprope_in_check() check failed, drop when using the debug flow? (Choose two.)

A. Packet was dropped because of policy route misconfiguration.
B. Packet was dropped because of traffic shaping.

C. Trusted host list misconfiguration.

D. VIP or IP pool misconfiguration.

Answer: CD

NEW QUESTION 17

In IKEv2, which exchange establishes the first CHILD_SA?
A. IKE_SA_INIT

B. INFORMATIONAL

C. CREATE_CHILD_SA

D. IKE_Auth

Answer: C

NEW QUESTION 19
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